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As is seen from the table / graph / chart, (Oooo
[ O 0O O A) ascent significantly from (U O1)in

(OODto (OO2)in (
[1 00 2) while over the same period, (Uooo
(1 0O O O B) shrank slightly from (3)to

(L1 O 4). It can be observed easily that
Quooooo

[1 00 O). There are many reasons responsible for this. In the
following paragraphs, I’ |l venture to explore the reasons. For one
thing, (O O 1). For another,

(0 O 2). In addition,




(0 O 3). However, this table /
graph / chart may not predict the entire situation in the future, I

believe ouodgo
0O00).QUUOO@@O00000000) The figure of the first
graph shows that (Cooo1oa)

while the figure of the second graph shows that
(O O 0O 020 0O). The relationship
between these two figures warns us that

QUuooooooo
[1). However, there are many effective methods to

(U OO0 0O O). For instance, (agnpn
[11). At the same time, (oog
[12). Inaword, (o).

As far as | am concerned, the more we understand the situation, the
better we can do to improve it in the future. Given all these points
above, | hold the opinion that Qoood
O00).00odooooooooooooooooooo
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